
15.294,40€                  

Categoria Parametro CDIA Num dip
prodotto parametro 

X num dip

divido somma 

punti/budget per avere 

punto parametrico 

Moltiplico punto parmatrico X 

prodotto

Divido/num 

dipendenti= budget 

individuale  

A 100 0 0 -€                                        -€                            

B 106 1 106 909,77€                                  909,77€                      

C 118 12 1416 12.153,13€                             1.012,76€                   

D 130 2 260 2.231,51€                               1.115,75€                   

1782 15.294,40€                             

15.294,40 €                            

Budget disponibile per produttività

8,582716049

totali 


